L A LIIM A S ® HOXK/ AnA TEH30[ATYMKOB CEPUM FCA - FCAL - FCAX -
ELETTRONICA FCL-FCOL-FTK-FTKL-FTL-FTP/-P -FTZ/ FEET FOR FCA - PIEDINOSB2
— FCAL - FCAX - FCL - FCOL - FTK - FTKL - FTL - FTP/-P - FTZ

PIEDINOSB2ZNCMS8 M8x1.25 (potoG).............. HOXKa Ha wapHupe (kapm. G). cad.feach
PIEDINOSB2M8 M8 x1.25 (poToF) .............. HOXKa Ha wapHupe (kapm. F).cad./each
PIEDINOSB2ZNCM10 M10x1.5 (potoG).............. HOXKa Ha wapHupe (kapm. G) cad./each
PIEDINOSB2M10 M10x1.5 (PotoF) .............. HOXKa Ha wapHupe (kapm. F).cad./each
PIEDINOSB2ZNC M12x1.75 (otoB)............... HOXKa Ha wapHupe (kapm. B).cad.feach
PIEDINOSB2INOX M12x 1.75 (cotoD)............... HOXKa Ha wapHupe (kapm. D)cad./each
PIEDINOSB2M20 M20x 2.5 (PoTOE)............... HOXKa Ha wapHupe (kapm. E).cad./each
onuuu No 3AnPOCY: OPTIONS ON REQUEST :
- Mnatel PPV 1 PPV80 anst MoHTaxa 3aLwmTbl OT NonepeyHoun - Plates PPV and PPV80 to realize accessories against lateral
Harpysku 1 HakmoHoB (CTP. 92,94) ................................ forces and antiftilt (pages 92,94)............................
PIEDINOSB2ZNCM8/-M10 PIEDINOSB2M8/-M10 PIEDINOSB2ZNC PIEDINOSB2INOX PIEDINOSB2M20
max 500 kg max 500 kg max 2000 kg max 2000 kg max 5000 kg
HUKENUPOBAHHASA HUKENUPOBAHHASA LIEHTPUPYIOLLAACA LIEHTPUPYIOLLAACSA
LEHTPUPYIOLLASCS WAPHUPHAS UEHTPUPYIOWASCA WAPHWPHAR )\ ErpypyioIASIC  LWAPHVUPHAS HOXKA M3 HEPXK. LUAPHUPHAS HOXKA U3 HEPXK.
HOXKA U3 HEPX. CTANIU
_ HOKKA (€ TAVHKOM ¥ LUAAEOR) LAPHUPHAS! HOXKA CTAIM CTAIM
(C FAVIKOW 1 LLAVIBOW) (C FAVIKOW) (C FAVIKO#) (C FAVKOM)
NICKEL-PLATED SELF-CENTRING STAINLESS STEEL SELF-CENTRING ~ NICKEL-PLATED SELF-CENTRING ~ STAINLESS STEEL SELF-CENTRING ~ STAINLESS STEEL SELF-CENTRING
JOINTED FOOT (WITH NUTS & WASHERS) JOINTED FOOT (WITH NUTS & WASHERS)  JOINTED FOOT (WITH NUTS) JOINTED FOOT (WITH NUTS) JOINTED FOOT (WITH NUTS)

H=88 H =86 H=92

H =105

45 mm
45 mm
45 mmh
50 mm
50 mm

4

80 mm

®OTO F »O0TO B »®OTO D ®OTO E

Esempio di impiego di piedini regolabili (Example of feet application)

(WEIGHING STRUCTURE)

‘ STRUTTURA PESATA

‘ PIATF2000 ‘ L — -]
[ BlOCTF | — mounting

surface
load T M load cell
direction i Bﬁjj

R =

D = 000 “ManHapanB” - oouumanbHbIN guCTpubLIOTOp B Poccun n CHI
RIVE Ten./cbakc 495 9567008, e-mail: info@linedrive.ru; web site: www.linedrive.ru



